001. DA U4 s aeel- sl ull 97

1. [Fedl 2. oudl 3. Qumst 4, AR
(A) §5c0 1,213 (B) §5d.2,3 01 4
(C) §5c 1,301 4 (D) 1,2,3%14
002. A0 U4 sur 2oe-d Asell vilél 97
(A) gl (B) 12y
(C) Ay (D) 5L

003, ~AlA uBdui xdsz-l usiR 2=l
“6 yaawdl, el ), 1 Q- adl.”
(A) 3us (B) Gunt
- (C) AsEIEsR (D) 249
004. LAl WBaui 2512l usR il
“qu A Yy, oflon st @i al”

'Y(A) Ay (B) Gumi
(C) 3us (D) 24
005. 2wl QA vaie 5.
“Uenaus”’
(A) AUl + 2UAS + (B) Aed + AL
(C) UL+ A (D) Aed + AL
006. 2l AREAS e 4.
“yusR”
(A) URL + U5R » (B) WR + GusiR
(C) udl + GusR (D) WRL + BusR
007.  “wallaiat e 3Ry AL 21 wRie 43,
(A) e wuet (B) 2t Anad)
(©)ull %4 (D) 352U (R 52
008.  “uRAUl dlddl” 3Ruala-l il A v 4.
(A) WRLet A4y dldl +(B) A1 W2 sl Qadl
(C) &¥1 YA Al (D) sieN dladl
009. DA VA sul wve “Yael” Al wnr-uell el ?
(A) 84 (B) 2l
(C) 515 '(D) %
010. DA WA sul 2oe “Ae” Al Ravudl 4?
(A) s (B) 20
(C) quu + (D) Geis
PSIMT -B | 2 [ Contd.

Scanned with CamScanner



011, DAL sl 043 ARl AR U51R wRiE 53,
d dnt dl A A4 Qdla Gurid ol 1 Ay,
(A)ed +(B) deyu
(C) sH{tu (D) Guue
012, Al sl AR Rl Al w51 wRie 3.
A g A vllog 2 il dld efl weL dzaadedl cuzd @ 24ig o 534 3 cuRd-Al QA2 doid wInR
nladlu 8.
(A) &% (B) deyn
» (C) s{uRa (D) Guue
013. 35l ALl
AE elldl
1. 532 (53 8) (a) Griz 9y%2ud-l (uzell) eiledl
2. dly (@) (b) 3 o521dll (et oiledl
3. Gdl (sdl) (c) eBeL arna-l (Y2dl) eilell
4. 354 (Su1R0) (d) Al ol
(A)l1-a,2-b,3-¢,4-d -(B)l‘—b,2—a,3—c,4—d
(C)1-¢,2-d,3-b,4-2 (D)1-d,2-¢,3-b,d4-a
014. DA Ulasl e 2lavil.
g 8 d vy dui 54 d &l 5ol ?
Aidg 2ol dl § g 3 g 2wl 8.
(A) HelsidL (B) RrRell
+(C) M-8R (D) azialdds
015. DAt cusuni AN Rt 1l U512 wrie 530
Az YA AvaHi il
(A) ¢ .(B) (g3
(C) Guue . (D)deyn
016. 0 U4 A A sR2AHL saB-Al wSH e wdl 87
(A) R[R1s 1 (B) Mioud
+(C) (A) i (B) ¢ir (D) (A) 2 (B) U4l 21 5um 4l
(1} b A Aeidl 5R 43 vilvuy O,
(A) 2[R Ul (B) AHi-e
(C) euuie «(D) 2uil
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018.  A35 Asl:

1. 3aeu llat (a) RHIiE

2. dluglesl (b) 24vil

3. Blerai =2 (c) acact Aaisl
4. 20l aRen (@) MU

«(B) l—b,2——a,3—d,4-—c

(A)1-2a,2-D,3-¢c,4-d
(D)l-d,2—-c,3

(C)1-b,2-¢,3-a,4-d

—b,4—-2

019. Al AR H covevinne 1 ot Rt a3 2Alavus 6.
(A) HadH . (B) e
(D) REot &21d

(©) s Y2l
020, Rudzi 3ue ousid A A4 sy / su [/ Rl 207 /0l 87
(A) AR “art1ey W A AR — B Al & Azl @l 8.

(B) Al % YIRS 2 30agllaR ddl.

+(C) (A) 21 (B) ¢l
(D) (A) 21 (B) L4l Asum -l
021.  GLOACARIA SLEIR wvvvenis g1 234 W2 slla 8.
(A) 5381 51 . eB)ld2
(C) swL (D) A
17 T 3 operatell ouuisi Al uan et el Y512 Ui uul gl
 (A) Hei2acuSl s (B) sR- 2
(C) ¢uidl (D) Al WILEL 251214

023. A3t Al
1 AMARIEL UGS (a) elsH

2. g yaldl (b) uyls

3, Gaugisz 2ell (c) 2l

4. o125 [Q2usll (d) [z
(z)i-:,z-b,z—cui—d  (B)l1-2a,2-b,3-d,4—c
(C)1-d,2-¢,3-2,4-b +(D)1-d,2-¢,3-b,4-2

024. e Aenell cuoid A0 A 53 / sw1 R ) Reg-dl W /2 ?
1. Aud ‘g s sdami 2ud 9, .

2. AxA “Adld " g BL3e umami 2udy

3. dzil2l s[Ady, 2s, aasu, alis, RNojy Sa
! y 0Ly .
(A) 55 1 Bl RN AR gl a5 B,

(C) 454243 B 26 1244 3
«M 1,243
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025.  AssLASL:
Lougoud ydlell  (a) il eqan
2. Uldld U2d (b) 32 dl Qe & el el
3. 22 Yedlsr (c) 215H oil3vy

4. A% w64 (d) B4l
(A)1-2a,2-b,3-c,4—-d (By1-b,2-2a,3-¢,4-d
«(C)1-b,2-2a,3-d,4-c , (D)1-d,2-¢,3-b,4-2a
026.  wwad 9gudl Bey [ar .......... Aqasal Gudl el 2udl 8.
(A) Al WIAEL 2SN «(B) deaii
(C) wien 24 ' (D) HAdlHl ereaus
027. Q184 st MRl lld . B,
«(A) Al (B) st
(C) Al M) Szl
028.  “aux-llafl 3 A@anl” AN Bl B 7
«(A) 1(Re uddl (B) s6ll2
(C) HlRitus . (D) HHi-ie

029.  “‘ya iy oig 48, [Aual wi aqu,
2l 4 2ud 124, 21 516 A3 au.”
— L U3 il sul usRAL AR Al Age 53 97

(A) 52181 Sled AB) 3l gy
(C) el 2l (D) Al
030.  “wiriesdl 200" AL ... Sl.
(A) EUIRIH (B) WH-ie
*(C) A Aausl (D) Al
031. Orders were that we the area within hours to prevent further loss of life.
(A) had evacuated (B) have to evacuate
(C) will have evacuated - »(D) had to evacuate
032. As1 you yesterday, the Home Secretary over this afternoon’s discussions.
(A) have told / was presiding +(B) told /will be presiding
(C) would have told / had presided (D) will tell / has presided
033.  What I is that we to think seriously about a thorough reform in the legal
system.
(A) have proposed / should have begun (B) had proposed / were beginning
« (C) am proposing / begin ’ (D) was proposing / have begun
034. More than half of the 850 asylum scekers currently detained in Britain in prison with
no right of appeal, even though the vast majority with any offence, let alone convicted.

(A) were held / are not charged

+(B) are being held / have not been charged
(C) have been held / would not be charged
(D) being held / had not been charged
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a network of concentration campg

035. North Korea sill a vast police state that
spanning the country,
(A) was maintaining / has included
(B) had maintained / would include
(C) is maintaining / had included
(D) maintains / included
036.  The train doesn’t stop at station along the way, but it stops at of the main ones,
(A) all /either «(B) every / most
(C) each / much (D) both / some
037. ink in my pen is red.
A) The (B)An
(C)A (D) No article needed
038. He likes to play volleyball.
(A)a (B) an
(C) the «(D) No article needed
039. My husband’s family speaks French.
(A)A (B) An
(C) The +(D) No article needed
040. Despite the official ban demonstrations, the agitating students came out on the streets
massive numbers.
(A) about / by (B) for / with
(C) over/ at _ ¢«(D)on/in
041. some cancers, the best therapy is a combination surgery, radiation, and
chemotherapy.
(A) with /through (B) about / in
+(C) for/ of (D)on/to
042.  They are planning a pipeline from Baku in Azerbaijan Turkey to the Mediterranean
Sea.
(A) against (B) below
(C) amongst . «(D) across
043.  Weare, from this date forward, cancelling your company’s credit facility with us your
poor payment record. )
* (A) on account of (B) even though
(C) in addition to (D) in spite of
044. Several doctors were infected by Covid 19 performing their duties.
(A) during «(B) while
(C) by the time (D) as soon as
045, They will demolish the entire block (Change the voice)
(A) The entire block is being demolished by them,
(B) The block may be demolished entirely by them.
(C) The entire block will have to be demolished by them.
« (D) The entire block will be demolished by them.,
PSIMT - B | 6 [ Contd.
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046.  The government has not approved the new drug for sale. (Change the voice)
(A) The government approval for the sale of the new drug has not been given.
¢ (B) The new drug has not been approved for sale by the government
(C) For the sale of the new drug, we have not been given the approval
(D) The new drug was not approved by the government.
047. He teaches us grammar. (Change the voice)
(A) Grammar was taught to us by him. ¢ (B) We are taught grammar by him.
(C) Grammar will be taught to us by him. (D) We were teached grammar by him.
048.  He told her, ‘I want to meet your father’ (Change the narration)
(A) He told her that T want to meet your father.
*(B) He told her that he wanted to meet her father.
(C) He told her that he wanted to meet your father.
(D) He told her that she wanted to meet her father.
049. He asked her, ‘Can you lend me a hundred rupees until tomorrow ?° (Change the narration)
(A) He asked her whether he could lend him a hundred rupees until tomorrow.
¢ (B) He asked her whether she could lend him a hundred rupees until the next day.
(C) He asked her whether she could lend me a hundred rupees until the next day.
(D) He asked whether she could lend me a hundred rupees until the next day.
050.  He said, “Why didn’t you send your application to me ?” (Change the narration)
+ (A) He enquired why I had not sent my application to him.
(B) He enquired why I did not send my application to him.
(C) He enquired why had I not sent my application to him.
(D) He enquired why did I not send my application to him.

051. In training, it is suggested that an instructor not lay a burden on an individual beyond his
. (Select the correct phrasal verb)

(A) bearable +(B) limit
(C) value (D) deficiency

052. It was surprising that the main opposition party the ruling government on the new
regulations of the laws related to the private institutions. (Select the correct phrasal verb)

(A) backed up (B) checked out
¢(C) looked over (D) allowed for
053. I think he made this decision so that it was too late when he realised that he’d made a
mistake. (Select the correct phrasal verb)
* (A) hastily (B) elegantly
(C) solely (D) reasonably
054, We regret that all buses to Jamnagar will experience delays due to bad weather
conditions.
« (A) announcing (B) to announce
(C) to have announced (D) to have been announced
055.  Your proposal deserve ______in detail.
(A) being considered (B) considered

(C) to have considered +(D) to be considered

—
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056. The money in our pocket far less today than it ten years ago.

«(A) could buy / would (B) can buy / had
(C) should buy /had (D) might buy / should
057. They reminded me that we an early start the next morning, so we late to beg,
(A) would make / didn’t need to be (B) must have made / can’t be
« (C) would make / wouldn’t be (D) could make / needn’t have been

058.  Her character is very mild. (Select the correct word having the similar meaning for the worg

underlined)
(A) Rude (B) Bad
+ (C) Gentle ' (D) Angry

059.  The new officer is an arrogant young man. (Select the correct word having the opposite meaning

————

for the word underlined)

(A) proud (B) handsome
(C) tall «(D) modest
060. One word substitution : That which can never be believed.
(A) Irrevocable + (B) Inevitable
(C) Incredible (D) Irritable
061.  The perimeter of a circle having radius of 5 cm is
(A)30 cm (B) 3.14 cm
+(C)31.4cm (D) 40 cm
061. 5.l Gewut wadl adn-l R ......... .
(A) 30 &AL (B) 3.14 AL
(C) 31.4 A3 - (D)40 AL
062.  The area of the square that can be inscribed in a circle of radius 8 em is .
¢(A) 256 cm? (B) 128 cm?
(C) 642 cm? (D) 64 cm?
062. 8 Al Brosut it adui 2Bt 539 asiu A drud Axga ... B,
(A) 256 A2 (B) 128 {312
(C) 642 A2 (D) 64 A2
063. The surface area of a sphere is 616 cm?, Its radius is
*(A)7 cm (B) 14 em
(C)21 em (D) 28 em
063. A5 0l Al g 616 102 B, A Bog ... .9,
(A)7 8 (B) 14 A3{)
(C)21a4l (D) 28 23]}
PSIMT - B | 8 oy
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064.

‘A’ and ‘B’ together can complete a piece of work in 15 days and ‘B’ alone in 20 days, in how
many days can ‘A’ alone complete the work?

(A) 60 (B) 45
(C) 40 «(D) 30
064. ‘A’ ‘B s s 18 WA 15 Bamui yel 50 93 &, 214 B’ 2sall 20 Rauniysl 530 a3 0, dl <A’
sl s2a Bauni yel 539 usa?
(A) 60 (B) 45
(€) 40 (D) 30
065.  In the figure, PB and QA are perpendicular to segment AB. If OA=5 cm, PO =7 cm and area of
A QOA = 150 cm?, find the area of A POB
P
Q
o
A 3
(A) 233 cm? (B) 294 cm?
(C) 300 cm? (D) 420 cm?
065.  2wdel 2u5[Rui Jvuvis AB GUR PB 21 QA sievidl vudar €t 8. A 0A =5 A, PO = 7 A3l 2
A QOA 1 &x50 = 150 A2 €lu dl A POB &lAAs0 24l
P
Q
o
A B
(A) 233 A2 (B) 294 A2
(C) 300 A2 (D) 420 A2
066.  Two Trains for Mumbai leave Delhi at 6:00 am and 6:45 am and travel at 100 kmph and
136 kmph respectively. How many kilometres from Delhi will the trains be together?
(A) 262.4 km (B) 260 km
(C) 283.33 km (D) 275 km
066. 6L 3 Redlell ousS e AR 6:00 1l 21 6:45 N ettt w1 B AA 2443 100 B4 WA ses 21
136 (3.0, uR saz-Nl AR vz 53 . Redldl Zaai (.l g2 211 6{A 2+ clofl 1dl ?
(A) 262.4 (330 (B) 260 (3.3,
(C) 283.33 (3.3 (D) 275 (3.30\.
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067.  Which of the following ratios is equivalent to 2:3?
(A) 4:8 (B) 4:9
«(C) 6:9 (D) 6:12
067. N U4l sul dyeilnz 2:3 4 s O,
(A) 4:8 (B) 4:9
(C) 6:9 (D) 6:12
068. ‘A’ is two years older than ‘B’ who is twice old as *C’. if the total age of ‘A’, ‘B, and ‘C’ s
27 years, how old is ‘B’ ?
(A)7 (B)8
(C)9 +(D) 10
068, ‘A’ 522 A B, 3B C' sl oel A D, A A7, B A€’ Al g GH2 27 el
B’ Al G Bacll uil ?
(A)7 (B) 8
(©)9 «(D) 10
069. ‘A’, ‘B’ and “C’ start together from the same place to walk round a circular path of length
12 kms. “‘A? walks at the rate of 4 km/h, ‘B’3 km/h and ‘C’3/2 km/h. They will meet together at
the starting point at the end of hours.
(A) 10 (B) 12
(©)15 (D) 24
069. ‘A’, ‘B’ A ‘C’ s ¥ owAAdl s wd 12 B0l dicn agduusiz va Gu waag a3 52 9.
‘A4 3.3 /5¢us, ‘B’ 3 (Ball/seus 24 <C 3/2 Ballsaus-l afaal 08 8. A2l 2 wowdl wédl]
u3 54 od ¥ wouA ... selLs GlLE ¢lou udl.
(A) 10 «(B) 12
(C) 15 (D) 24
070. ‘A’ runs twice as fast as ‘B’ and ‘B’ runs thrice as fast as ‘C’. The distance covered by ‘C’
in 72 minutes, will be covered by ‘A’ in minutes.
(A) 18 (B) 24
©) 16 (D) 12
070. ‘A’ ‘B 5c1 eimell AUl €13 8 At B2 2 5261 <C? A1 1] ;mall €1 B, < gt 72 M Alewi sy
ViR ‘A’ G e W-flexi swal.
(A)18 (B) 24
(C) 16 +(D) 12
071. An athlete runs 200 meters race in 24 seconds. His speed is km/h.
(A)20 (B) 24
(C)28.5 + (D) 30
071. ¥ elsdl2 200 2N €l 24 Al €V B, AN AR ......... Ball /5005 B,
(4)20 (B) 24
(C)28.5 (D) 30
-
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072. A man starts climbing a 11 meters high wall at 5 pm. In each minute he climbs up 1 meter but
slips 50 em. at what time will he climb the wall ?
(A) 5:30 pm +«(B) 5:21 pm
(C) 5:25 pm (D) 5:27 pm
072, SAs el 11022 Gl B i 5l asaug 23 62 9. A e3s A2 13022 23O udg 50 Al qud
0. A 3zen 4l B ufl asd ?
(A) 5:30 pm (B) 5:21 pm
(C)5:25 pm " (D) 5:27 pm
073.  Two trains 105 meters and 90 meters long, run at the speeds of 45 kmph and 72 kmph respectively,
in opposite directions on parallel tracks. The time which they take to cross each other is
seconds.
(A)8 (B) 6
<€)7 ms
073. 10522 247 90 22 eus- A 34l uzauz Rzt Rami wnida2 wet 6u2 253 45 [3.0/5¢05 244
72 (3.0l /seus AL ala €13 8, dvil 2lsolload uaR 24l .......... Asesetl UMY A2
(A)8 (B) 6
©)7 D)5
074.  If2/30fA=75% of B=0.60of C,then A: B: C=
(A)2:3:3 (B)3:4:5
(C)4:5:6 D)9:8:10
074. AAG23=B75%=CU0.68UAA:B:C= ..
(A)2:3:3 B)3:4:5
(C)4:5:6 D)9:8:10
075. Tickets numbered 1 to 20 are mixed up and then a ticket is drawn at random. What is the
probability that the ticket drawn has a number which is a multiple of 3 or5 ?
(A) 172 - (B)2/5
(C) 8/15 « (D) 9720
075. 190120 44 2udell A0 o0 53 i 20 © 17 QURoNE 25 A4z welRes Ad vaar 2ud 8. 2
92 3 waal 5 Al 9pis daiadl €lu d-l oiad sadl ud 7
(A)12 (B) 2/5
(C) 8/15 (D) 9720
076. Three coins are tossed, what is the probability of getting at most two heads?
(A)3/4 B) 1/4
(C)3/8 (D) 7/8
076. o Bissiell Gorami 2 8. agui ay Wil (Heads) larll icuanu 3 67
(A) 3/4 (B) 1/4
(C)3/8 (D) 7/8
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077. Insect : Disease :: War: ?

(A) Army (B) Defeat

(C) Arsenal =D Destruction
077. g A2 1y _ 2

(A) A (B) 812

(C) AR (D) [@a-wa
078.  Which of the following words is different from others?

(A) Sparrow v (B) Swan

(C) Parrot (D) Pigeon
078.  DAnAA sdl w0t N @AW B ? -

(A) asdl (B) ¥

(C) uluz (D) s64dR
079.  6,11,21,36,56,  ?

(A) 91 (B) 51

+«(C) 81 (D) 42

079.  6,11,21,36,56, 2

(A)91 (B) 51

(€81 (D) 42
080. If ‘PROSE’ is coded as ‘PPOQE’, ‘LIGHT’ will be

(A) LIGFT (B) LGGHT

(C) LGGFT +(D) LLGFE
080.  °A ‘PROSE’-ll 518 ‘PPOQE’ ¢l dl ‘LIGHT’ -l 45 .......... 2sl.

(A) LIGFT (B) LGGHT

(C) LGGFT (D) LLGFE
081. FAG, GAF,HAL IAH,

« (A) JAK (B) HAL

(C) HAK " (D)JAI
081. FAG,GAF,HALIAH, .

(A) JAK (B) HAL

(C) HAK (D) JAI

082. A person walks 30 meters in the North-West direction of his house and then 30 meters in the

Soufl:-West d_irecli.on. After then he walks 30 meters in the South East direction. Now to return
to his house, in which direction should he go ?

(A) North-East
(C) South-East

082. 5 uldd d-t 42+l Grix-ulau Rauni 30 23 o
8. curoue d elEe-yd

(B) North-West
(D) South-West

\ 14D 24 cureue q ¢ Ba-ulan Rauwi 30 22 219
WHL30 M2z 1A 8. ¢ A A Arte 1 %q) lu L Al 6 Rensti v wsdl?

(A) Brr-yd (B) Gri-uluy
(C) eBeryd (D) ey
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083. ‘A’ is son of ‘C’ while ‘C’ and ‘Q’ are the sisters to onc another. ‘Z’ is the mother of ‘Q’.
If‘P?is the son of ‘Z’, which of the following statements is correct ?
(A) ‘Q’is grandfather of ‘A’ 1(B) ‘P’ is the maternal uncle of ‘A’
(C) P’ is the cousin of ‘A’ (D) ‘Z’ is the brother of ‘C’
083.  A'3C’ AL B, ud <0 nA Q Aselleal eidA B, 70 2 QA el 8. A P A 2 AL R 52
ey, dl Al U4 sy Qe 202 6 7
(A) “Q L ‘A’ L E1EL B, (B) P L “A” AL L .
(C) P 3L ‘A’ Hl 50 89, (D) ‘2’ A C* -l e 6.
084.  Choose the word that is necessary part of the given word.
Book
(A) fiction +(B) pages
(C) pictures (D) learning
084, 1A 2ude Aol w39 oudL eufadl 2o waie 3.
Yds
(A) sieulAs (B) i
(©) Rl (D) g
085.  Aclock shows 8 O’clock in the morning. Through how many degrees will the hour hand rotate
when the clock shows 2 O’clock in the afternoon ?
(A) 144° (B) 150°
(C) 168° +(D) 180°
085. s alfwn ARl § arut-l uHa oidid 8. wu aluin ol 2 avur-l wy cafad ud sas-l
siel seal S0l sul el ?
(A) 144° (B) 150°
(C) 168° (D) 180°
086.  Ashopkeeper earns a profit of 12% on selling a book at 10% discount on the printed price. The
ratio of the cost price and the printed price of the book is
(A) 45:56 (B) 45:51
(C) 47:56 (D) 47:51
086. s gstrie A5 Yas-ll el [Bud Gu 10% (5162 200 Q=g 591 12% 51 s 8. s
Baud 214 A0 el Buasdl 3elnR ... 8. .
(A) 45:56 (B) 45:51
(C) 47:56 (D) 47:51
087, By selling a bicycle for Rs. 2,850 a shopkeeper gains 14%. If the profit is reduced to 8% then the
selling price will be
(A) Rs. 2,600 (B) Rs. 2,700
(C) Rs. 2,800 (D) Rs. 3,000
087. ¥ gAAEIR A5 AAsA 3L, 2,850 i AARL 5l 14% s:1d B, A 5] w2l 8% s 20 dl
Ausadl A BHd e 2l
(A) 3. 2,600 (B) 31.2,700
(C) 31. 2,800 (D) 31. 3,000
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9 000, After & months ‘B joined with a capital of

08, ‘A’ started n business by investing Hs. 9= - ‘the .
Rs. 5.000. 1f at the end of the year, they carn a profit of Rs. 6,970, then what will be the share of
I in the profit 7
(A) Ko 2050 (8) Rs. 2500
(C) Ra. 2,250 () Rs. 2,260
. . s o1 e ] 2ert s 69, W e 3
N8N CAT 309,000 1 214 MUEUIE n";‘ 419, 8 \g-{l-“ -1‘1-: l!‘ J]. .'umn‘ {’l' M | 3un IR .\ll (" 14;[
A3l 30 6,970 P24l ALl el i Al 90 A st §200 B3R
(A) 31 2,280 (1) 3t 2,300
(C) 31 2,280 (1) 31 2,260
089, *A'mmd “Iinvest in a business in the ratio of 3:2. 1f 8% of the total profit goes to charity and A's
share is Re, 885, the total profitis
(A) Re, 1,425 (1) R, 1,500
(C) Rs, 1,837.80 (D) Ha. 1,576
089, A A R A ‘j‘iflt\{ﬂi Auiamd A1ster 8% 13, A4 Asen 5% sreaml A i e A Al e
3L 858 i Al 44 8L Wil
(A) 3L 1428 (B) 31 1,500
(C) 3L 1,537.50 (D) 3L 1,576
9 2
is — oreale 3 —_— '.'
090, How much is 20 greater than 20
21 I 21
— ! —
(A) 20 (B) 10
C L D E
(© 20 ) 40
19 2 .
Lo o srdL B auR 9 Y
090 30 20 9
A 21 B 21
(A) 20 (B) 20
17 17
(©) 20 (D) 10
091. Find the correct order from following in which fuel is injected.
* (A) Fuel tank — Fuel filter — Fuel feed pump — Fuel injection pump — injector
(B) Fuel tank — Fuel feed pump — Fuel filter — Fuel injection pump — injector
(C) Fuel tank — Fuel filter - Fuel injection pump — Fuel feed pump —injector
(D) Fuel tank — Fuel injection pump — Fuel filter — Fuel feed pump — injector
091.  cdgt S+352 52 W2 A1 WA 21l 53 5] 9 ?
(A) §2utd 208 — 791 (B2 — gaid 18 Wu — soyaie SR 50 Uy — §e 522
(B) &34 214l — £ §18 N — sy (Beer — syaie SR 521 U — §-2 522
(C) i 208l — 534 (322 — sy § 5211 i — g2t 418 iy — §eR 522
(D) fyidt 218 — YA SB5UA U — gy Beas — Sy 918 Yy — §-3 52
I
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092.  In multi point fuel injection (MPFI) how many injectors are required for six cylinder engine
(A)1 (B)2
©3 «(D) 6
092, MLUIS-2 syd SFsas (MPFI) ui 9 Buli-s2 Aot W2 3oc 3522 932 D7
(A)1 (B) 2
(©3 )6
093.  Which of the following is true about the removal of an automatic transaxle from a vehicle?

(A) The transmission cooler lines must be removed first.
(B) The battery must be disconnected first.
(C) The torque converter must be removed first.

+(D) The oil pan must be removed first.
093.  cwgriuidl 2qaled g-uRlsua g2 s2ai @2 AAumid 4 e 87
(A) Anan graan 5a2-l aus-l g2 54 ASA.
(B) Anan t2d] Bass2 524 ASA.
(C) AmaH 218 54221 g2 s2d ASA.
(D) AnaH 2AA5A U g2 sl ASA.

094.  The wire at the output terminal of an alternator connects to which terminal?

(A) The ignition switch input terminal. (B) The starter at the S terminal.
» (C) The battery positive terminal. y (D) The interior fuse panel supply terminal.
094, ile2ad2a-1 wG2y2 2BHa vl su 2fiHa WA A S ?
(A) So-flatt el $-yz 2Bla. (B) S 2B{-a w2182,
(C) Azl WlHRa 2Bina. (D) 2R &2 Und A 264,

095. A two-speed wiper motor workson high and on pulse delay but not on low. Which of the following
could be the cause? :

(A) Low-speed winding failure. (B) Low-speed brush not making contact.
(C) Damaged ground circuit. (D) Wiper switch failure.
095.  g-alls cuu Mlzr Guu 2 ue ReeL R 5 53 8 uig DAL uR Al QA-uniel 53 se el w?
(A) 2] 230 awS={lo1 (g el (B) Sl 33U 19t jus s34 el
(C) allazd iG-S ulZe. (D) auR el gl

096 A customer arrives at a shop and his car battery voltage is 13.6 volts with the engine off. What

does this indicate?

(A) Overcharging. . (B) Undercharging.
« (C) Normal surface charge. (D) Sulfated battery.
096. 315 e ghid w2 2ud B, A i A o 8 cud ol2dl dle 13.6 dlez 8. 2 g yad 67
(A) AL (B) ¥isulFa,
(C) AL AW 1%, (D) uedds 624,
PSIMT - B 5 [P.T.O.
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097. The commercial lead acid cell has 13 plates. The number of positive plates would be
(A) 6 (B)7
©)8 )9
097.  SiuBlua dls 2B Aaui 13 @2 dlu 8. Wlldla el v ......... el
(A) 6 e (B)7
(C)8 )9
098.  The compression pressure in diesel engine is around
(A) 30 Kg/em? (B) 10 Kg/em?
(C) 20 Kg/em? +(D) 40 Kg/em?
098.  lavd AUl A NAR e §AWA 1Y B,
(A) 30 Kg/cm? (B) 10 Kg/em?
(C) 20 Kg/em? (D) 40 Kg/em?
099. The device for smoothing out the power impulses from the engine is called the
+(A) Flywheel (B) Camshaft
(C) Crankshaft (D) Clutch
099. il wa Srueud UM et-iadl H2Ht BuseA .......... sdau 8.
(A) saadla (B) 2uau%2
(C) 5-s2us2 ‘ (D) 54
100.  The ease with which a liquid changes to a vapour is called its
(A) Vapourability *(B) Boiling point
(C) Viscosity (D) Volatility
100.  uadl anui B A0dL 0 e 8 AR Ay ... 53a1u 8,
(A) clvleian &l (B) Gesant (G,
(C) o1 (D) ¥Rl
101. The material used for the piston of modern passenger cars are
(A) Brass pistons (B) Cast iron pistons
¢ (C) Aluminium alloy pistons (D) Steel pistons
101, YRS QA2 10 Qe W2 quadl am3ll ........... 6.
(A) Ran Rzen (B) 5122 21 Rze
(C) AR Ay e (D) ¥l Rize
102.  The rear end suspension arrangement in which rear end torque is absorbed by the spring is
called the
(A) Torque tube drive (B) Hooks drive
(C) Differential drive + (D) Hotchkiss drive
102, WA S8l AU dqza FH WL A8 2150 B0l g el d 8 A1 ......... sda ©,
(A) 25 2y g16a (B) g5 §18e
(C) Adles 16 «(D) Hotchkiss §154
PSIMT - B ] 16 [ Contd.
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“ " .
> Tll:]ctll:s‘:'g:' ofl:'::::l::,c::flgsoz;:erctlﬁlcl:gc::;;slIt:rc engine power f rom the engine to the rear wheels.
(A) Front axis shaft, differential and .....” :
.(C) Gear box (B) Steering gear
103. “bﬂalnlouécmi, ulaR 3-1 A gl B 2;{P);Izlchassis -
Wiz g2, Rdes w1 ... g Aol s adlet Yl @S au 8. waR -l s4
(et (B) FaulRa Bz
(C) Bz slls .
104. :Irl[‘(‘)r:"lll‘::;:‘t (:, [-T:i, (:(l:l' l'cr::,ncc in the driving angle as rear axle moves up and down, the propeller
* () Slip Jolnt (B) Elbow joint
(C) Release joint ¢(D) Universal joints
i ;1::::2 ﬂ&%a GuR 213 A ud & cwd ORivL i astad- sz da w2, W42 WE2 As
(A) Qe i (B) stefl-u uiw
(C) ustaw- Ait (D) 2udBis it
105.  Which of the following layouts is not used in motor vehicles?
(A) Front engine front drive (B) Front engine rear drive
(C) Rear engine front drive (D) Rear engine rear drive
105, DAl sun Avube-l e as-lui Guulay udl 141?
(A) 572 AL 572 Y164 (B) 52 Al wesenAl 16
(C) wiesn AL 52 J16 (D) D22 Al D21z ySa
106 Of the four tyres on a car, the one that wears most is the
+(A) Right front tyre (B) Right rear tyre
(C) Left front tyre (D) Left rear tyre
106, siaew R 2w, Sui Adlay gudaud d o
(A) g BN 2142 (B) ug] weng 2R ,
(C) 816} 2oL 2142 (D) st uag R
107.  Caster is defined as the inclination of
(A) Front wheel to the vertical
» (B) The king pin axis in the fore and aft plane
(C) The king pin axis in the transverse vertical plane
(D) The axis of stub axle to the horizontal
107 321 .ernene AL s adly caaifad sl 2ud 8. :
(A) 20104 afle alZse yHdl
(B) 20121 243 regett Al (o [ A4
(C) 2inax alsa i (oL [t A3
(D) 220 sl udl 208 4%
PSIMT - B | i [ P.T.O.
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108.  Leaf springs absorb shocks by
+ (A) bending

(C) compression

(B) twisting

(D) tension

108.  dlg B e, Gl2L ALl 2iiusd Al 4 8.
(A) g (B) all %
(C) slar (D) deud
109.  Which of the following represents the correct specification of a tyre?
(A) 155-80-R-13 (B) R-155-80-13
(C) 155-80-13-R +(D) 155-R-80-13
109.  AAuiA .......... 202 0y dlse eald .
(A) 155-80-R-13 . (B)R-155-80-13
(C) 155-80-13-R (D) 155-R-80-13
110. Which of the following is an automatic clutch that is controlled by engine speed?
(A) Cone clutch *(B) Centrifugal clutch
(C) Fluid clutch (D) Disc clutch
10, DAl .......... 25 202ARS sau O B 2=l B3 g [RElBid 2 ©.
(A) 2ig 542 (B) sscudll s
(C) nadl 542 © (D) R8s
111.  The hand brake of the automobile is usually
(A) External contracting brake *(B) Internal expanding brake
(C) Disc brake (D) All of the above
11, »ldseusaddl &= os au dd ... dlu 8,
(A) Lug S1-a158001 s (B) 2idR5 Qw1 Ay ’
() Brs dls (D) GURlsd duIH
112. In water cooling, the water in the jackets obtains heat from the cylinders due to
+(A) Conduction (B) Convection
(C) Radiation (D) All of the above
112, dlez glaem, 232uig wel Ruld-sAuid)l 2230 Aud 8 A g9t ... 8.
(A) A (B) g+
(& EIRDEE (D) GURlSd dHIH
113.  Which of the following is known as ‘Breakerless Ignition system’?
(A) Battery coil ignition system (B) Magneto Ignition system
%(C) Electronic Ignition system (D) Capacitive discharge Ignition system
3. Admi ..., - AsQu Sollan Rizew’ adl? il 6.
(A) 2l S18a Sola Rirey (B) Aa42] ol Ryzen
(©) Ba5ZAs do-llait Rz (D) 5@A Rrausf ol Rizen
PSIMT -B ] 18
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114.

114.

115.

115, 53U SREIRR Aldr wadl oy 97
(A) APyt 22 (B) et ya
(€) Fscudll i (D) A ulzR
116.  Hook’s law holds good up to
(A) yield point +(B) elastic limit
(C) plastic limit (D) breaking point
16, ¢l [Run ... L 20 uss wd 8.
(A) Gux Big (B) Ruldzaius wulet
(C) iRz Hulel D) A Ws-2
117.  The purpose of a riser is to .
(A) deliver molten metal into the mould cavity
(B) act as a reservoir for the molten metal
+(C) feed the molten metal to the casting in order to compensate for the shrinkage
(D) deliver the molten metal from pouring basin to gate
7. SR wrrrenrene 6.
(A) Dol g e 3Qda udiansdl
(B) Dol g w2 diusie adls s 53d
(©) gl oz sea 2 Waddl g sifReai welausdl
0y Qoie] g Wit ARl s il udlusdl
118, Gantt chart is used for
' (A) inventory control (B) material handling
(C) machine repair schedules (D) production schedule
8.  Ganttad........ L2 auad 8.
%) §-4-24 24 (B) #llue dsfdm
(C) uell Rz 534 (D) Gctus s
. —
PSIMT . B , 12 [ P.T.O.

¢ (C) Centrifugal Force

Which of the following is used to transport materials having flat bottoms?
It conveyc

«(A) Be yor (B) Roller conveyor

(C) Chain conveyor (D) None of the above

Adidl .......... Al Guadlay qyie Afly Yaiadl mal uBasq i i 9.
(A) Ale2 5-AUR (B) A4z 442
(€) A U2 (D) Gualsauidll 4 1l

Vehicle rolls due to which reason?

(A) Engine Thrust (B) Gravitational Pull

(D) Road Resistance

Scanned with CamScanner



119. Drilling is an example of

 (A) orthogonal cutting (B) simple cutting
(C) oblique cutting (D) uniform cutting
119. Blaar.......... 4 GewgaL &
(A) 2aliina 8o (B) #1 58101
(C) ARl 52laL (D) AHL 5311
120. The gear train usually employed in clocks isa
(A) simple gear train * (B) reverted gear train
(C) sun and planet gear : (D) differential gear
120, weiea A4 aBawiui Guaaui dadl B 24 2 .. .
(A) AL Brar 21 (B) RaZs Bz 21
(C) A 2 g Bz (D) [Acles B
121. The value of stress concentration factor depends upon
(A) material of the part (B) geometry of the part
¢ (C) material and geometry of the part (D) surrounding Atmosphere
121, dold s uRsn 4 Al ... YR RR B
(A) el el (B) et 43l
(C) cuatll el 214 M (D) SUAULAAL ALALAREL
122. The difference between dry bulb temperature and wet bulb temperature, is called
(A) dry bulb depression v (B) wet bulb depression
(C) dew point depression (D) degree of saturation
122, §14 61 Al i d2 eledt diudid a2l dS1Ad cueneees L 58U 89,
(A) §tu eieey Boa-t (B) A2 v1een Bart
(C) s g Blar (D) dig[a-l sl
123. In order to measure the flow with a venturimeter, it is installed in
¢ (A) horizontal line (B) inclined line with flow upwards
(C) inclined line with flow downwards (D) any direction and in any location
123, Aydfle: ad wawA wuaL W2 d ... A 212 2R sl 2ud 8.
(A) 204l vl (B) GUR dg ueus ud Alsaull v
(C) 012 dgtL nate 8 Aseuedl vy (D) At Ranui 217 SlSum a2
124.  The centre of gravity of the volume of the liquid displaced is called
(A) centre of pressure + (B) centre of buoyancy
(C) metacentre (D) none of the above
124, [Reuld 2da nad- e Jause 3 .......... S8 D.
(A) seuald 5 (B) Geowug 3+
(C) Hewd2R (D) Gulsd LI A5 wa ]
PSIMT -B | 20 [ Contd.
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125. Which of the following is not a reaction turbine?
(A) Furneyron turbine (B) Jonval turbine
(C) Thomson’'s turbine ¢ (D) Pelton turbine
125.  Daniedl s wldlbu 2o 441?
(A) &30 201 (B) “Ariad 201
(C) WM 201S (D) Uez 26lH
126.  The more effective way to increase the thermal efficiency of a carnot cycle is to:
(A) Increase the source temperature «(B) Decrease the sink temperature
(C) Increase the sink temperature (D) Decrease the source temperature
126. sz a5 wale seiamdl aqarll ay 2u525 A4 O :
(A) Al A auig (B) Bisd drusirt 8213g
(C) Bisd diunirt aurg (D) 2l dtuLA 42189
127. Frosting of evaporator tubes results in
(A) Increased heat transfer rate (B) Increased compressor pressure
«(C) Decreased heat transfer rate (D) Decreased compressor pressure
127.  oidleian s-R 2ol sl ..., CIRUEERETA
(A) 212311 2a1-id28L e 4t o (B) sl e atzl
(C) 2123011 2&u-ideL €4l 1218l (D) s13lAR seueii w218l
128.  Which one of the following mediums is used for the fastest cooling rate of steel quenching?
(A) Air (B) Oil
(C) Water +(D) Brine
128, 28a et el el 435 £ W2 DAl s AL Guala wu 87
(A) s (B) det
(C) well (D) wL d
129.  In throttling process, which one of the following parameters remians constant?
(A) Temperature (B) Pressure
¢(C) Enthalpy (D) Entropy
120, slelio ulai, DA-uuidl s uRwe Ruz 24 87
(A) diyHi (B) ebust
(C) Al (D) 22l
130.  The leakage in a Freon based refrigeration system can be detected by using a/an
(A) Oxyacetylene torch «(B) Halide torch
(C) Sulphur torch (D) Blue litmus paper
130, D2 2l ABdan Beesul 3% coennn. il GutlloL 509 219 us B,
(A) 215020811 21 (B) 218 2
(©) ues2 2 (D) o4 (@23 Qur
PSIMT - B | 21 [P.T.O.
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The surface roughness on a drawing is represented by

131.
(A) Circles (B) Triangles
(C) Squares + (D) Zig-zag lines
31, Sl uedl andl-Al 28 At @121 eatlacuni 2ud 97
(A) adil (B) (asiay
(C) 1A (D) Bsor-Rat vl
132. Wrinkling is a common defect found in
(A) Bend components (B) Embossed components
(C) Deep drawn components (D) Blanked components
32, 522l (Wrinkling) 2 215 0 vl © % e, i A 19l 9.
(A) B-8 s3l-2 (B) Awilzs £3l-2
(C) U drawn 52 (D) 6ds s¥ul4-2
133.  The power from the sun intercepted by the carth is approximately (in MW)
(A) 2.1 x 101 (B) 1.8 x 10!
(C) 2.0 x 1013 o (D) 3.1 x 10"
133, yedl uz wendl el Al e el ... e (MW) 89 ?
(A) 2.1 x 10" (B) 1.8 x 10!
(©)2.0x 100 _ (D)3ax 10"
134.  Asystem which is in equilibrium with its surroundings is said to be at the dead state having zero
(A) Energy (B) Entropy
+(C) Exergy (D) Enthalpy
134. jlfiﬁm“ ;5:11&:; 2R dldtaRel A ARG Sl R d Dead State Hi 6 A Jeau ¢t
(A) ¥ (B) A2l
(€) A ) el
135. sT:(:; n:al::; s(;fl It.:ti:stz:)t::tum reheat pressure (of the modern steam power plants) to the initial
(A) 0.10 to 0.20 (B) 0.20 t0 0.25
(C) 0.25 to 0.30
135, alé 3 wer waeui A e
WD Qus. W4 A2 (Reheat) g6l 2R W3Ms 6 gona-dl sl (Ratio)
(A)0.10 1 0,20
(B) 0.20 41 0.25
(C) 0.25 4 0.30
(D) 0.30 ) 0.40
PSIMT - B ] o
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136.  Two reversible isobars and two reversible adiabatics constitute the Brayton cycle. The same
processes also make up the

(A) Sterling cycle (B) Ericsson cycle
(C) Otto cycle «(D) Rankine cycle

136. @2l 2% (Brayton Cycle) L WRal aHeWll (reversible isobars) 214 61 uldald 3]l (reversible
adiabatics) WEul-l e i . 20 o uBu g12L o7 54 2% (Cycle) A O 7

(A) 2[&1 a5 (B) AR5 A5
(C) ¥zl us (D) 341 4%

137.  Air may be cooled or heated, humidified or dehumidified, or simply adiabatically saturated
when air is made to flow over

(A) an evaporator coil (B) condenser tubes
(C) a heat exchanger (D) an air washer
137.  sad DA HiEl 56 arg well waR sl d 44 vaal Ay, Ayl vaa M Ald WAL S 5d
] Add 53 wsu B,
(A) $duller sida (B) £-3=u2 201
(C) 12 vNeA2 (D) A dlar
138. Mean effective pressure is defined as work done per cycle divided by
(A) clearance volume +(B) swept volume '
(C) total volume (D) none of the above
138, U3 U1 €618 (Mean Effective Pressure) -l carvdl, WA asani 284 sidq Lt ..........
(A) Bau- dieg (B) 2 dleyu
(C) 2led aAleyH (D) Busa WA A5y 4]
139. For buoyancy induced fluid flow and heat transfer, this dimensionless number is significant
v (A) Grashof number (B) Nusselt number
(C) Reynolds number (D) Prandtl number
139, -Da-umiel sul uRgdlA e ellu=il (buoyancy) Uld waté] 2sua aqn dl2 214s3 W2 FalelglR 97
(A) 3lalls 4o (B) €2 o
(C) 3l -oR (D) Ws~2d iR

140, For a Newtonian fluid,

(A) shear stress is proportional to shear strain,

(B) rate of shear stress is proportional to shear strain.

+(C) shear stress is proportional to rate of shear strain.

(D) rate of shear stress is proportional to rate of shear strain,
140.  ~yel-flu 46 (Fluid) W2,

(A) Nz 2224, MuR Bl WHAAR Sl B,

(B) AU 232rl £, AU AL WHRR dlu 6,

(C) Nur 223, AMNu2 Wrt-l £ WU dlu 8.

(D) 2N -l €2, MU 3L EAUNHBRIR Sl 8,

PSIMT - B | 23 [ P.T.O.
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141.  Unit speed of the hydraulic turbine runner is .....
N o N
@ Jm . ®F
o3 n 2
141, addls ee{Sl Asn oy L.
N ' N
A) 77— =
(A) JH (B) "
N
—_— N
c) 3 A
© H? ® 5
142, If ‘r’is the radius of a shaftin a journal bearing, the radius of friction circle is (u is coefficient of
friction between the surfaces)
(A p (B) r
MC)wir - (D)pr
142, o ‘r ol Aol szl Buarar §lu dl e adodl B 22l ? (4 2 awidleil a2l e
s )
(A p (B) r
(C) wr (D) pr
143, For a long slender column of uniform cross section, the ratio of critical buckling load for the
case with both ends clamped to the case with both ends hinged is .
(A) 1 (B)2
(©)4 (D)8
143, s At SRA-A52- AL ot wan Sl w2, BAse esdlo sl opilaz (oA Sa sdms ) vid
31 [Rw2¢8) w2 32l ¢l ?
A1 (B)2
©4 D)8
144. Two screw shafts may be connected for power transmission using a
(A) spur gear pair *» (B) worm gear pair
(C) helical gear pair (D) bevel gear pair
144, - Hidl 56 Bz AQ (Gear Pair) A Gudla 599 2 g2 5252 5309 war e ud 43
87
(A) 242 Bz A4 (B) ¥ Bz Adl
(C) 8[&se Bruz Adl (D) ldet Bz A
PSIMT -B ] 24 [ Contd.
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145.  The entire reciprocating mass of a slider crank system is never balanced because
(A) reciprocating mass does not require balancing
(B) it would only change the direction of unbalanced force
(C) it is not possible to do so
¢ (D) it gives rise to unbalanced couple
145. 632 35 [Res-l anu AR0U(E01 eudt g3y Agad adl el s12e0 3
(A) AR g ddall 32 -l
(B) A 1A 20 [&d cwnll [Baw o ied 8.
(C) A 53¢ s o el
(D) A 2i2ig[Ad AsH auizl 53 &,
1406. Under torsion, brittle materials generally fail
' (A) along a plane perpendicular to its longitudinal axis
(B) in the direction of minimum tension
¢ (C) along surfaces forming a 45° angle with the longitudinal axis
(D) not in any specific manner
146.  2l{urt (Torsion) iddld, Arx-u Ad 6128 wetel NA-unidl 58 A 42 (fail) © ?
(A) d-l uiia 4 de3u uHAA 0
(B) =4rdH dgua-l [2euni
(C) Iuiar 4l A 45° slat i-adl awdl e

(D) 818 2Als54 Ad 1l

147. When a close coiled helical spring is compressed, its wire is subjected to
(A) tension (B) compression
(C) shear ¢ (D) compression and shear

147.  ouR o0 464 uuadl dlsa Ruad ﬁgﬁld (compressed) sRAUML 2Ud © Ul A+l A2 (wire)
A-uuie 51 57 2uln au 8.

(A) deud (tension) (B) ilar (compression)
(C) [B1uz (shear) © (D) RAslan wA [
148. A Mohr’s circle reduces to point when the body is subjected to

(A) pure shear

+ (B) uniaxial stress only
(C) equal and opposite axial stresses on two mutually perpendicular planes, the plane being free

of shear
(D) equal axial stresses on two mutually perpendicular planes, the planes being free of shear

148, oD DA-umie 27 wuR- i il Weg aduras s Rig 3l Rlla wu 8 ?

(A) 2t R (shear)

(B) Wizt YRASAA dsud
(C) URRUR LU AWl UR ALt 27 A3t viallu g, Adl QiR (shear) D Ysd 9.

(D) URRUR Gei3u AUl UR A vafla digy, AU RuR (shear)dl ysd O.

PSIMT - B | 25 [ P.T.O.
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149. Which of the following properties improve because of forging process?
(A) Directional properties giving good strength
(B) Percentage elongation and percentage reduction of area
(C) Resistance to shock and vibration

*(D) All of the above
149. S G 518 QA-mie su opeaHiui YRl A 1d 87
(A) AR dusid 2uudl [Banens el

(B) [Qaz/AA0 atail (elongation) 2s1atdl w13 a2ardl 25adl
(C) 2AsL d2 Su- A ulas

(D) GuRl5d daun
150. In a rolling process the state of stress of the material undergoing deformation is ?
*(A) pure compression (B) pure shear .
(C) compression and shear (D) tension and shear '
150. el uBani, [A3udl (deformation)idll waR ud wddlua .......... 2 v .
(A) Yt Aslaq (B) 2t (AR (shear)
(C) Aslun w1 [ (D) dvnd 44 [QiuR
151. Cast iron are classified as per .
(A) Sulphur percentage ¢ (B) Iron percentage
(C) Tensile strength (D) Indent hardness
151, 52 20l DA d gL aollsd wu o ?
(A) 253+l 251l T @) 2 2sad)
(©) At Al3d (D) $-32 1é1sl
152, Steel containing 0.8% carbon and 100% pearlite is known as
(A) Ferrite + (B) Eutectoid
(C) Austenite (D) Cementite
152, 0.8% 516{ 2471 100% etz €lu da 28¢ DA-uxia 56 A 2oy O ?
(A) 5u82 (B) Y252153
(C) 22-use2 (D) Rd-a12
153. Which Rapid Prototyping process uses Photo-sensitive liquid as starting material?
(A) Laminated Object Manufacturing (B) Stereolithography
(C) Sclective Laser Sintering (D) CNC
153, DA-uuidl 6 2ell A2t Rio wlBun udlius sl 42 2-2ideele nadd Guda s 9 ?
(A) ABRA2S 2leB 52 Geurg (B) BB ug
(C) uriedMNysd du: R-2dla (D) AR (CNC)
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154 'l'fhc thin metal foil used in Ultrasonic Additive Manufacturing (UAM) has typically thicknesses
0
(A)I-L5pum (B) 10-15 pm
(C) 100 - 150 prm (D) 1-1.5mm
154, weridls 2AGRa A-yssalEa (UAM) Hi Gualad dadt wdofl A2a 5184l aas aeu A4
.............. dlu 6,
(A)1-1L5pm (B) 10 =15 pm
(C) 100 - 150 jim (D) 1-1L5mm
155, Which of the below mentioned number indicate that vehicle was registered on Physical Handicap
person?
(A) GJ 01 PH 1234 (B)GI01IAB 1234
(C) GJ 01 1C 1234 (D) GJ 01 DB 1234
155, A ealda doruidl sul o2 2 (s [saia calba- ans 20 Aldy edl?
(A) GJ 01 PH 1234 (B)GJOIAB 1234
(C)GJO1IC 1234 (D)GJOI DB 1234
156. What is the life of a battery in an electric car
(A) 8 year (B) 4 vear
(C) 10 year (D) 20 year
156.  ©dsdls aws-lui el cards el Clud ?
(A)8ad (B) 4
(C) 10 (D) 20 a{
157, Rule 115 of CMVR 1989, describes about
(A) steering gears +»(B) emission standards for motor vehicles
(C) specification of tyres (D) brakes
157.  CMVR 1989+ (Raat 115, Ad-uniel e Bl gl 53 8 ?
(A) 2\udlo B ©(B) 2R Al W2 G HIal
(C) 212+l W=M8132 (D) elsy
158. Any officer of and above the rank of an ____shall be the authority to conduct a driving test
under sub-section (3) of section 9 of MV Act
#(A) Inspector of Motor Vehicles (B) Assistant Inspector of Motor Vehicles
(C) Both (A) and (B) (D) None of the above
158. MV a5zl sa 9 N Wel-5EH(3) 86U cuvvemcereee U 375U A ditell Guz-L S1SUGL RHAA H6SE2
222 Qail 21[A512 ¢4l
(A) §=i1522 ilg Hle [Rseun (B) uius $Us22 2ilg A2 [Rscu
(©) (A) 21 (B) bid (D) Bualsd Ul 215 um €l
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Which of the following direction was given by Supreme Court Committee on Road Safety?

159.
(A) MoRTH shall publish a protocol for identification and rectification of black spots
(B) Traffic calming measures
(C) Setting up special patroling forces along the national highways and state highways
«(D) All of the above
159, o] aenndl »i9 udlza vead-d aBR gt Ad-uail sal [Ea 2uuant wued 67
(A) MoRTH, 645 2l2-l 2ilov 243 e w2 sl2lsla usild s24l.
(B) 21515 2Uid a1 WAEl
(€) 8l A % DAl w2 [@du dgl @ el au-t
(D) Gutsd A
160.  No national permit shall be granted in respect of a modular hydraulic trailer, which is more
than ____ years old at any point of time.
(A) 12 years +(B) 25 years
(C) 15 years (D) 20 years
160.  ggaR SRS 2aa-u dealui Adue dlu Wbz suuami 2uad 1, A slduel AHA 21 2UR
............... alef] ay oo sal.
(A) 12 (B) 25
(C) 15 (D) 20 ax{
. 161. As per the latest amendments in 2019 the driver shall ensure that a child upto years of
age is seated in an appropriate child restraint system, wherever provided
¢ (A) 4 years (B) 10 years
(C) 12 years (D) 14 years
161, 20190 Acl-idd YAl el 4 viddl sl A 3, ... @ YUl uns qou oun R
wenelui i Met scumi e glu i ¥ A3g O,
(A) 4 © (By1oayd
(C) 12 (D) 14 oy
162.  Who is designated as the Chairman of Gujarat Road Safety Authority?
(A) Chief Minister «(B) Minister of Transport
(C) Secretary of Transport (D) Transport Commissioner
162, 21%Rud A3 A5 AR A2AA Slot lu B ?
(A) Yoo H-Al (B) uRag+ -l
() wla WRag @Qeual (D) dlgrt g1 sMsisl
163. Meeting of Gujarat Road Safety Authority may be held at least once in
(A) 2 months «(B) 6 months
(C) 3 months (D) 1 month
163. A AS A& 2AARAA Fiflor 2ot W N5 AR vovevveronn, M g 200D RS,
(A2 ul8-u (B) 6 1R+
(C) 3 4R~ (D) 1 4R
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164, ~ When canan authorized officer seize 4 vehicle
l l i l i . .
(A) the vehicle is not covered by valid Insurance
(B) the vehicle exceeds the speed limit
+(C) the vehicle i . .
(C) the vehicle is not covered by a valig registration or permit
«(D) all of the above
64, 52 AREd AN auet ong 53 93 87
(A) st W G121 ) Aaua e+ dlu,
(B) <+t 38U HulEL 20id) 3,
(C) st M- el vaal wbiz gz el da wdd 4 Gl
(D) Bulsd dHm,
165. Unflcr tltc-MV Act 2019, a penalty of has been provided for talking on a mobile phone
while driving, )
(A) Rs. 1000 (B) Rs. 1500
(C) Rs. 2500 (D) Rs. 5000
165. MV 2152, 2019 de0, 6l 52l amd Mowda 814 U2 aid 52 M2 ..., g3+l Aot sra
wdl &9 ?
(A) 3L. 1000 (B) 3L. 1500
(C) 3L. 2500 (D) 3L 5000
166.  For how long driving license will be suspended in violation of rules?
(A) 6 months (B) 3 months
(C) 9 months +(D) 12 months
166.  [Rusli Gecad ady e amu- Fzan ama Pl s saui 2ud 8 ?
(A) 6 1+t (B) 3 1R~
(C) 9 uld-u (D) 12 #[3-u
167.  The ability to recover and read deleted or damaged files from a criminal’s computer is an example
of a law enforcement speciality called: ,
» (A) Computer Forensics (B)SOC
(C) VAPT (D) Network Security
167, opouzet szl 51l i 20dell 2 aldotd SISl Yrinwa sl A diae-l ana
2 sueil AAHdls [AAMAL e 4 GerraL 8.
(A) svyeR sllRus (B)SoC
(C) VAPT (D) 28 Yrau
168.  Information Technology Act was amended in
« (A) 2000 (B) 2007
(C) 2006 (D) 2008
168. Rl 25ldlen 2Aszui sut Al YHIR ST Uil wdl ?
(A) 2000 (B) 2007
(C) 2006 (D) 2008
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169.

What is the full form of API?

*(A) Application Programming Interface (B) Application Protocol Interface
(C) Android Programming Interface (D) Android Protocol Interface
169.  API duclzazug o ?
(A) Al 3o aubio §-2250 (B) Aell3a- Wilsla $r25u
(C) A-16s wanloL 2252 (D) 2§63 W2kl §-2r8u
170. Which of the following is not a nickname of any Android Interface?
(A) Kitkat (B) Lollipop
(C) Cupcake + (D) Muffins
170. DAl 53 ASuL A-NS3 2ualid Gu-um dl?
(A) [3232 (B) dldluly
(C) suds , (D) ulE~=
171. Distance of Air and Sea travel are measured in units of Nautical Miles, one Nautical Mile is
equal to
(A) 1.452 km (B) 2.212 km
(C) 3.112 km (D) 1.852 km
171, e 2 gl naradl vidR Qs Wi 1 8. As 1254 wdd 224.......
(A) 1.452 (33 (B) 2.212 (33l
(C) 3.112 (34l (D) 1.852 (34
172. ____is a project for operationalizing 32 Direct to Home (DTH) Television channels on
24 x 7 basis using the GSAT-15 Satellite for providing high quality educational content to all
teachers, students and citizens.
(A) MOOCS « (B) SWAYAMPRABHA
(C) Vidyarthi (D) Vidhyadan
| 7 —— i), Rendlail 243 ol alA G apaientdl Aaifis sl Hew s W2 GSAT-15
Aeusz Gueilot 503 24 x7 -1 K28l 32 uds2 g 13 (DTH) 2R A selret s2arl W52 B.
(A) MOOCS (B) UMM
(€) Rendl ) Reueir
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3. Which of th ’
17 ¢ following statements about Human Development Index (HDI) is / are correct?

A) If the HDI i -
(&) Tindex is 0.7 and aboye on 1 point scale, it will be considered as High HDI.

If t i :
(B) he HDI index is 0.6 and below on 1 point scale, it will be considered as low HDI.

(C) Both (A) and (B)
(D) Neither (A) nor (B)
173. e [ yasis (MDD sueid Q414 sy/sut [Qau/fRQaHl /2 97

(A) R Mt Bs 32sts 1062 B 6uz 0.7 243 drel) Guz Gl dl A G s s yasis adls
2 A 21agl. -

(B) 2 e (5124 20515 10162 23t GuR 0.6 243 A-teel Doid dhat il AL e wairte Rtz yasis adl
Qi A 2uqsl,

(C) (A) ¥ (B) ti1
(D) (A) 211 (B) WAl 21suw 4]

174. Who among the following Governor Generals created the Covenanted Civil Services of India
which later came to be known as the Indian Civil Service?

*(A) Cornwallis (B) William Bentinck
(C) Wellesley (D) Warren Hastings

174. DA U4 sur aa- #RA ¢ud-l s1268 AL Al - 53 8l 3 3 wesnl cudly A€l
Al a3 oaelldl 4 ?
(A) siHaldla B) [Al&un Alzs
(C) Adzll T D)dR &R

175. Which of the following is the nodal department of Right to Information Act 2005?

(A) Ministry of Home Affairs

(B) Department of Personnel and Training

(C) Prime Minister’s office
(D) Department of Law and Justice

175. QA 04 sl wRedlHl 2052 wRuH, 2005 L3 [Reuan 8 ?

(A) 218 HaAlad (B) sH1dl 217 aellu Qe
d

i KA (D) S1UEL 44~ [QAeia
) ASMHL

— 31 [ P.T.O.
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176 Which of the following statements is correct in relation with the Prime Minister of India?
(A) Is free to choose his ministers only from among those who are members of Lok Sabha.

(B) Can choose his cabinet colleagues after due counseling by the President of India in this
regard.

(C) Has full discretion in the choice of persons who are to serve as ministers in his cabinet,

i i i i i : discreti ;
(D) Has only limited powers in the choice of his cabinet colleagues because of the discretionary
power vested with the President of India.

176, G0Ret-it At ootd N1 WA 54 Qa2 © ?
(A) clsou- aeai) o ldi 312 yaigoll s W 2ada .
(B) 2L Heo] aud-i 202 il yaumal sul sue duen 36042 e waigall 539 22 B,
(C) Al ZoflAni 3l a3 Act 20012 sl waigol s2auui Wl Ayl (4ds 0B yd B,

(D) Bt 02104 2uuari 2uddl RASIA At 5129 Al 26032 weer3l-l waigaNaui Hix
YR vl ud 6,

177. Which of the following statements are correct regarding constitutional amendments?

1. Private members cannot introduce Constitutional Amendment bill in Parliament.

2. President cannot send Constitutional Amendment Bil

I passed by Parliament back for
reconsideration.

3. Constitutional Amendment bill requires special majority for its approval.

4. There cannot be a Joint Session of Parliament for passing a Constitutional Amendment Bill.

(A) 1 and 2 only ¢ (B) 2,3 and 4 only
*(C) 2 and 3 only (D) 1,2 and 3 only

177. eluRelly yuRil ousd D84 09 sy Qa8 7

L voll el (Private Members) 2iag i sitslly AR VR4 il agen o),

2. AUE GRLYAR sem] 210 siRella YR vRA UM Y Ruzen 32 yag 3 AsaL .
3. oieflu i viasil siogdl w3 vy oigudldl 32 ¢l 8.

4. et U1 RS W s7q) 2 RAUE 2AYsd At 1 €16 A3,

(A)§5d 1 244 2 (B) §5c 2, 32 4

(C) §5d2 %44 3 (D) 55 1,211 3
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178. ;::';,i:‘:;:réﬁﬁr‘;‘;""“'i"g statements are correct regarding to the Advisory Jurisdiction of the
. llt’::s::;:::“g on the Supreme Court to give its opinion on any matter referred to it by the
2. At least Five Judge Bench of the Supreme Court hears any reference made to it under its
power of Advisory Jurisdiction.
3. The opinion given by the Supreme Court on a reference under Advisory Jurisdiction is not
binding on the President.
(A) 1 and 2 only «(B) 1 and 3 only
(C) 2 and 3 only (D) 1,2 and 3
178, AR AL U SR 2ARSR A ouod A-u 14 s Rl w28 7
1. Al Medd 02U g121 Gedvlld 516 unt oot u2 ldidl 20Bena suud siuqsdl 8.
2. U2 a2l 211 uia B o A ades 2RsR A1 dsn dA Gedvild
UL A Sldupt ouota-dl yruael s2ami 2ud 8.
3. A 512 HASIRAA S0+t 2iea] U2 Acilz2 He1dd G121 Al 2dd 2R 0ZUAA tfunsdl
el
(A) 5 1242 (B) $4d 1244 3
(C) §5d213 (D) $5d 1,21 3
179. Which of the following statements is / are correct regarding Human Blood Pressure?
(A) It is much greater in arteries than veins
»(B) It is measured with an instrument called sphygmomanometer
(C) Both (A) and (B)
(D) Neither (A) nor (B)
179.  wira @l £648t (Human Blood Presure) oitotd {121 U4 sy/su [QumyRQtsl ud/uai o ?
(A) A gl 521 N g a4 du B,
(B) & 2819822 AL ALk A3 HUAH] 209 D,
(C) (A) 1 (B) b
D) (A) 217 (B) L4 Asust ¢l
180, Which of the following is used to detect fingerprints on a piece of paper?
(A) X-ray (B) Infra-red rays
(C) Ultra-violet radiation (D) Gamma rays.
180, 51900441 g8t uR (B Bz i w2 A1 A Sl GuadloL u 8 ?
(A) 2-[3200l (B) $-513¢ (3ol
(C) wRoAul [B2ell (D) 2 (32ul
181.  According to the Atal Ranking of Institutions on Innovation Achievements (ARITA) 2021, which
of the following institutes ranked 1**?
(A) IT, Delhi (B) IIT, Gandhinagar
«(C) IIT, Madras (D) T, Bombay
181, w2e 3500l »ils A0y il Slldart pilarl-2 (ARITA) 2021, 2iquR 2L U4 56 iz
nH s YA ?
(A) 2 2 A, Redl (B) 2u8 28 2\, AiN212
(C) 228 &, Har (D) 2086 216 &, i
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182.  Which of the following statements are correct regarding New Development Bank?
1. Brazil, Russia, India, China and South Africa arc the founding members of the bank.
2. Bangladesh and UAE also joined the bank in the year 2021
3. The Head Quarter of the New Development Bank is located at Capetown, South Africa
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 2 only (D) 1 and 3 only
182. =y Jacudl-z o5 ouotd A W4 sun Rul i 9 7
1. uafle, 21, cud, A 243 £ B wuls ols s wedl 8.
2. a4 20214 v e 2 YRS ueL ols wd AL,
3.~y Jaauil-z dlsd you uas uaG-, el 2uBs vud 20dg O.
(A) §5d.1,2 13 (B) §5d 2 11 3

(C) 554111 2 (D) 5541243

183.  Which of the following statements is /are correct regarding NITI Aayog’s 4th edition of State of
Health Index for 2019-2020 ?

1. The report is titled as Healthy States — Progressive India —Fighting the Covid.

2. In the category of larger states Kerala, Gujarat and Maharashtra emerged as best three
performers in terms of overall performance.

3. The index has covered 19 larger States, 8 small States and 7 Union territories.

(A) 3 only (B) 2 and 3 only
(C) 1 and 3 only D)1,2and 3

183, ~lldl 2uallatt 2019-2020 2L A%l 20124 Yasisd 4 A 20 ouord DA AR si/san @ury
(Qtnl /e ? '

1. sdaiag 2Mus - 2aza Azl - waldglla cud - S8 A g - 9.
2. 2L Al Asllui 50, 3od 21 HYIAR ASeR HedrH e[ dr 2oL ueelsal 493 Gadl

e 8.
3. yusis 19 Hlzy A%l 8 At A% 241 7 3wRd 1220 2uadl dlyy o,
(A) 5543 (B) $5d 2 241 3
(C) 554 1344 3 (D)1,2%43

184.  According to the Government of India, Gujarat has secured

rank in the implementation
of Shyama Prasad Mukharjee Rurban Mission.

(A) 1% (B) 3¢
(C) 5th (D) 7th
184. O-l!;;.c:.a AR AFAR, AAAd A%UBL 2HUAE IR 36{ Pl vmaaada ..., £ W
sul 8.
(A) uddl (B) =0A
(C) uiaMl (D) Ml
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185.

186.

186.

Which of the following statements are correct regarding Antyodaya Anna Yojana (AAY)?

1. Initially 25 kg of food grains used to be issued per family per month, later it was increased to
35 kg per family per month.

2. Landless agriculture labourers, rural artisans / craftsmen, such as potters, tanners, weavers,
blacksmiths, carpenters, slum dwellers are eligible under this scheme.

3. Houscholds headed by windows or terminally ill persons/ disabled persons/ persons aged 60
years or more are eligible under this scheme.

4. Under this scheme the price is Rs, 5 per KG wheat and Rs. 7 per KG rice will be charged.
e(A)1,2,3 and 4 (B) 1,2 and 3 only

(C) 2,3 and 4 only (D) 1 and 4 only

Bicdled 2 dlogeil (AAY) eietd 13- U4 s Qe 2 & ?

1. 232Ul uBaUR £l WA s 25 (el 2ty suucini »uag ¢d, wenedl d audld uRrels uldae
35 [3ell Yl sanmi »uey,

2. 24 Al Qa0 ol Rdlan 5 wog, et siflad B 3 foudl, wHBuA, aasl, 4o,
YaRl, susaill wa 8. ;

3. L Al 3501 [Rnail 2 21aisd aliil/Rsaion aBdil /60 @ 3 ddl ay qu-u cuasfail
At S50 WReUA uiA 8.

4. 2L Al 350 3L 5 U Bl ub 247 31 7w Bl Avu cud daul 2uad.
(A)1,2,3 44 (B) $5d 1,2 243

(C) §5d 2,3 %14 (D) $5d 121 4

Which of the following statements are correct regarding Kishori Shakti Yojana (KSY) of
Government of India?

1. The objective is to improve the nutritional and health status of girls in the age group of
11-18 years.

2. KSY provides the required literacy and numeracy skills through the non-formal stream of
Education.

3. Programme is implemented under the Ministry of Rural Development, GOIL.

(A) 1 and 2 only (B) 2 and 3 only

(C) 1 and 3 only D) 1,2and 3

al2d A2512+1 ZBeldl ald Aot (KSY) euetd 1A U4 sl Qu-l 2ui 6 ?

1. A+ G2y 11-18 el quoga-dl el s0i-L dlueL 24 2uRlou-{l Rafdni Yl sl ©.
2. KSY 2 Rietarrtt Brrialluuls nats 6120 %330 AL 21 Avuleis AL UELA 53 O,
3. 20 stelsn flel a1 Hanau, diRd U6 860 LHAUT Ysarii 2udd .

(A) §5d 12412 (B) 85 2 94 3

(C) §5d 144 3 D)1,2%4 3
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187.

187.

188.

188.

189.

189.

What is ‘bioleaching’? . the use of bacteria
«(A) Bioleaching is the extraction of metals from their ores through .

. : f microorg
(B) Bioleaching refers to the use 0 . . - ari
(C) Bioleaching refers to exploration of hidden biodiversity treasures inside the marine ccosysten,
iole S :

(D) Bioleaching is a property of certain 'typcs of bion
from even very dilute aqueous solutions.

‘sualdiEer g O 7 . )

(A) cudl Lo 2 As2Ra GudlaL gl 3 uzsHidl qigild (st 6.

(B) sl B 2 opielran udad 20 eriadl w2 yrudl-u Gudlarl Gedu 53 .

(C) sl 3 eRu 2ale-l vie? eguidet Faldladdi vioa-Ll 2y ‘.'llbld'ﬂ Gedw 53 8,

() cudlfaBior 31 vior uidou weflu sagaidl un 13 Higila oliran 2 A0 52 We Ay
w51+ el o 8.

Species diversity enhances the stability of a given ecosystem bec

(A) It reduces trophic levels in a food chain.

(B) It reduces the ecological niche of the species.
+(C) It provides alternative channels for energy flow in food web.

(D) It reduces the gross primary productivity.

AR AR 2l SAReH-l RadL 4 8 54 3........
(A) A v e 2B s aui ualdl 53 9.

(B) 4wl yafarellu Qe u2ld 8.

(C) A vttt ANHL ol nale 2 As(eus Aal yil uid 8.

(D) A 54 als Guesdl 12l .

Which of the following statements in relation to District Planning Committees (DPCs) is /are
INCORRECT?

1. DPCs are established under the provisions of the 73rd Constitutional Amendment Act.
2. Setting up of DPCs is mandatory for State Governments.

anisms to facilitate penctration of groundwater,

1ass to bind and concentrate heavy metal

ause —.

3.DPCs are to take up planning of both urban and rural areas, even when the urban area hasa
Municipal Planning Committee.

4. Four-fifths of the members of DPCs are elected from members of Panchayats and
Municipalities. )

(A) 1 only (B) 1 and 4 only
(C) 2 and 3 only (D)1,2,3 and 4

Brecu 2% AR DPCs) enead A0 A4 s3f/sui RuyREA vilgpila 8 ?

1. DPCs -l 204~ 7341 o{tielly HHRLABAUHA Qo2 st scuui 2udl 6.
2. DPCs -1l 221 53l A% 4030 313 530004 B,

3. 234 [Rrarsl YARMA ellogt wBR Gl 91 wat DPCs 21 234 2 aeller 63 Rt
2L 18 GUR Aai ly &,

4. DPCs it 4/5 Aol Yaudl 243 LRW[G S AAHI 2] 204 O,

(A) §5d1 g (B) $5d 1 ¥4 4
(C) $5d 23 (D) 1,2 %A 3247 4

—_— P
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190. Which of the following Statements js / e
. . Correct?
(A) The minimum age Prescribed for any person to b
on to be

(B) A panchayat reconstituteg * rember afa panchsyatis 25 years.

. ﬂfler rems 2 .
period. Premature dissolution continues only for the remaining

(C) Both (A) and (B)

(D) Neither (A) nor (B)
00, A UL sy/sun Ry Ry AR S 7

(A) H2HAAL 168 A W2 DS it ey Pl Ay au 25 i 9.

(B) 34 WAl [RR4%1 601 Yrt:221-1 5210 i st bl AHou Ml a1y 28 9.
(C) (A) ¥ (B) i
(D) (A) 21 (B) WAl 2sugt 4]l

191.  Which of the following statements is /are correct?

(A) Keylogger software records keystrokes to gain access to passwords or other sensitive
information.

(B) Spywares keep a track of activities of a user on a computer both in online and offline mode.
(C) Ransomware is malicious software that blocks access to computers and data until a sum of
money is paid.
* (D) All of the above

91, D A4 sijsu Rud i o ?

(A) fldloR Algad? sy vadl w1 Adde-alla WRAA A A Anaar w2 £lels 1S R 8.

of 2ilg @l ¢id gl 52 v Yol ualizil Gur 35 A ©.

(B) 2u14dR e 44
(C) 3=1mdz A5 gRd 2ls 2a2 8 @ wandl 25a Asadil - 2ud e Yol slaged wid da AsAAA
AR08 6.

(D) Gulsd dHIH . :
192, The Minamata incident, an example for environmental degradation, is due to which one of the

following? (B) Nuclear disaster

(A) Air pollution. (D) Thermal pollution

+(C) Water pollution e 8 DA A s 58 0 ?
192 yyfazely welofid Gers (B) WHIQ, MR

(A) ary UgHsL (D) ua ugual
ﬂ‘u [ P.T.O.
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oardine National Disaster Manage
is / are correct regarding IN# THRGment

193. Which of the following statements
Authority? . .
1. The National Management authority is headed by the Home Minister of India.
2. The NDMA was established by the Govtof India under Disaster Management Act 2005
3. Institutional mechanisms at the State and District levels are mandated by the Disaster
Management Act, 2010
(A)1,2and 3 (B) 2 and 3 only
(C) 1 and 3 only (D) 2 only
193, andlu 2 ezt aeisn ound A L4 s/su RaryRtAL RS ?
1. 20814 U i AL A eudeAL AL 0.
2. Wl 2R acRa- adeisnedl 2 tid 24252 2l gz ARAUH, 2005 dsa
sl vudl 6.
3. A%u 1A Brecn s dizaiflu 2212l 2uu( eaazait HEAUH, 2010 6120 $220Ud w8l a8,
(A)$5d 1,224 3 (B) §5d 2 44 3
(C) 5 1211 3 (D) $5d 2
194. Which of the following newspaper was/were started by Annie Besant?
(A) The Commonweal (B) New India
+» (C) (A) and (B) Both (D) Neither (A) nor (B)
194 DAL stf/sui vuon/peenR] A -2 g1 a3 s syl Sd/ddi ?
(A) 4 SHdla (B) =y S~
(C) (A) 2L (B) tiA (D) (A) 21 (B) WA A5zt 4]
195.  Which of the following Round Table Conferences did Gandhiji participate?
(A) 1930 «(B) 1931
(C) 1932 (D) None of the above.
195, auileon A1 U4 56 slude uRueni cusl ) ¢dl ?
(A) 1930 (B) 1931
(C) 1932 (D) Gulsd A AS ),
196.  Which of the following lakes is /are related to Minaldevi, mother of Sidharaj Jaysinh?
(A) Munsar lake of Viramgam (B) Malav lake of Dholka
+(C) (A) and ('B) Both (D) Neither (A) nor (B)
196. Rty uliedl wan o) wid 394 s3/5ul AAR/AAAR) 2snden 6 ?
(A) QMM YrAR doy (B) Wlnsi Menq qoyq
(©) @) 21 (B) 0l (D) (4) % (8B) U4 A0, 4]
PSIMT - B | - 38 ont.
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197.

197.

198.

198.

199.

199.

200.

200.

How many floors are visible i Rani-ki-yqy of P
Tve atan?

ik ®)s
©° ' ‘()7
izl el UL S2e Haygy el2alaz upy 3 7 :
(A)4 : ®) 5
(©)6 | D)7
Which of the following Goddesses is known as Sea Goddess?
(A)RandelMata ° = © ~ (B) Vidhadtri Devi
«(C) Shikotri Mata (D) Meldi Mata
AU UL 56 Bl eRuS 2 adl w3 ?

() Azauil (B) RuAl 2d)
©) Ruslad e - (D) Aadlaued

In which of the following sports event did Sarita Gayakwad bagged gold medal at 2018 Asian
Games? e

(A) 100 meters run (B) 4 X 400 meters relay run
(C) High Jump J (D) Lon_gjump ' |
B suasa 2018 ARt 2l £22ur A A4 56 v Yael 2gs gina sl ?
(A) 100 122 €3 (Bj 4 % 400 {22 Ad €8
(D) &ieil 451

(C) Gl gesl ‘
Which of the following players has announced her retirement after the 2022 season?

(A) Saina Nehwal (B) Sania Mirza

- (C) Mary Kom +(D) Mithali Raj
3 4L 5 a1 2022+ Rroset o Nt Rafnd2 A8 ? S
(A) muﬂl Addld (B) [ [t ,
(C) ALl £ln ) Fenell
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